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Eight persons A, B, C, D, E, F, G and H are sitting around a
circular table but not necessarily in the same order. Four of
them are facing towards the centre and remaining are
facing opposite to the centre. B sits second to the right of D.
F sits third to the left of C. E sits opposite to G who Is an
Immediate neighbour of C and B.A doesn’t sits opposite to F
and H. F faces outside the centre and sits third to the right
of A. A and F are facing opposite direction. Immediate
neighbours of A are facing same direction which is opposite
to A. B and C are facing same direction.

316 ATKIA, B, C, D, E, F, G 3¥ H TP JATHR TSl & IRI
3R 9 § Afh o=t A1 b ST pH A Bl | 378 A IR
?%ﬂtq'a%—s:aﬁ 3R § 3R AV T . &g oI faudia fa=m
B,D. '
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43) Who sits third to the right of the person 41) Who sits immediate right of B? B & dIh El'a CaC

who sits opposite to F? F a5 ﬁtl'\ﬂ?r a% aB'I' %?
HAfd & G A TR R W )G
B ST 82 <

C)A
a)A d)E
b)B e)None of these
c)D
d)H

42) Which of the following person is an immediate neighbour of A?

frafafeaa & 9 19 a1 aafad A &1 Recad
TS 32
a)D

b)E

c)C

d)G

e)None of these

e)None of these
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44) Which of the following makes first person sits third to the

right of the second person? m ﬁ' @' aﬁ? tl‘ca'ﬁ
fad Y gaR AT & 1 A AR R_IM W
43T 82

a)DF

b)AG

c)FC

d)EC

e)None of these

45) Four of the following five in such a way to form a group,
which one of the following does not belong to the group?

fFrafafad uiw ¥ 9 IR 359 YPR TS 998
%ﬁ%% ﬁaﬁr@aﬁﬁaﬁqw@wﬁa

a)C
b)A
c)B
d)D
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51) Statements:

All shirt is Trousers
All Trouser is Jean

No Trouser is Cotton
Conclusions:

I)No shirt is Cotton
[1)No Jean is Cotton
a)Only | follow
b)Only 11 follow
c)Either I or Il follows
d)Neither | nor Il follows
e)Both | and Il follows

52) Statements:

Some Bulb is Car

All Lorry is Bike

All Bike is Car
Conclusions:

1)Some Bulb is Lorry
[1)No Bulb is Lorry
a)Both I and 11 follow
b)Only 11 follow
c)Either | or Il follows
d)Neither I nor 11 follows
e)Both | and Il follows
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54) Statements:
Some Phone is Vivo
Some Vivo is Oppo
No Oppo is Sony
Conclusions:

I)Some Phone is Oppo
[1)No Vivo is Sony
a)Only | follow

b)Both I and 11 follow
c)Either | or Il follows
d)Neither | nor Il follows
e)Only 11 follow

55) Statement:

All Chair is Watch

No Chair is Table

All Table is Wood
Conclusions:

[)All Chair is Wood is Possibility
[1)Some Wood is Chair
a)Only | follow

b)Only 11 follow
c)Either | or Il follows
d)Neither | nor Il follows
e)Both | and Il follow
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53) Statements:

All Copper is Metal
Some Metal is Plate

No Metal is Diamond
Conclusions:

I)No Plate is Copper
I1)No Copper is Diamond
a)Only | follow

b)Only Il follow
c)Either I or 11 follows
d)Neither | nor 11 follows
e)Both | and 11 follow
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Eight watches A, B, C, D,E, F, G and H were bought on
eight different months March, April, May, July, August,
October, November and December of the same year but
not necessarily in the same order.

The watch E was bought on March. The watch H was
bought on the month which has 30 days. Two watches
were bought between H and A. The watch G was bought
just before C. Four watches were bought between D and
F which was bought before G. As many watches bought
between B and G is as same as between F and C.

313 UTSUT A, B, C, D, E, F, G 3R H TP g1 99 & 3ITS MR-
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58) Which of the following watch was bought 56) Watch C was bought on which of the following months?

just before the watch which was bought on July? T aﬁﬁ‘g‘ma ﬁﬁ%\q ﬁ!_ﬁ'\’lal
Praffen A4 P MR TSy o o

T@ﬁﬁﬁlﬁﬂﬁﬁﬂﬁ@ﬁ% a)July
3°I$ tl??r? b)August

a)B Months Watc C)Oct(?ber
b)C d)April
c)D Case1 |-€)None of these
d)E | March(31) F e | 57) How many watches were bought between H and G?
e)F April(30) s | H MR G $1=rwm‘—ﬁir%m“@|ﬁ?ﬁﬂ‘s§‘>
May(31) P E;;
July(31) A ‘ 03
August(31) G )
October(31) C | e)None of these
November(30) - |
December(31) D
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Months Watc| 59) Which of the following watch was bought on August?
| Fufafea ¥ 9 o9 @ St on o WRId g
Casel
) ] e
March(31) E Qn.
. a)A
April(30) = b)D
M3Y(31) F | C)F
July(31) A | |doc
August(31) G | e)None of these
October(31) C | | 60) Four of the five among the following are similar in such a way to
November(30) H | | form agroup, Which one of the following doesn’t belongs to the
December(31) | D group? FARITAT A AU A A IR TH G TTH &

fore 9w 8, Fufafaa 7 9 &9 99 3 Jafta
T8l 87
a)E
b)F
C)A
d)H
e)G
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64) Statement: KSA>C >D=F<|>Z 61) Statement: | >M; M >J; L<J; L=0; O< N
Conclusion: Conclusion:

DF >A L=I

IC>Z INL< |

65) Statements: E< K <L: K=S >0:S <T >U 62) Statement: B< H< K; H >l >F; F=M >Z,
-l 1 ’ \ Conclusion:

Conclusions: D<K

X INB< Z

1L >0

63) Statement: S<T >Z=I; I=N >M
Conclusion:
) M>T
1) N<T
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66) If The digits in each number are arranged in descending order, then which of the following

number will be the third highest number? 'Qﬁ W -\‘T@T % &Iﬁ ﬁ m $hH
# sgafeud foear wie, 9 fRgfefad A 9 o W T2 s aad 96t
@ gt

a) 532

b) 427

¢) 386

d) 148

ey NEngIPtHibasambers are arranged by ascending order from left end to right end then which of the

following number is second from the right end? 'CI'% Iyt J=13i Fl I SR A E‘I‘a
BR d% 3MRIe! »H § syafyd foar imar g, af Fafefea & 9«19 @t
=T 3 B A g 87

a) 148
b) 427
c) 532
d) 248
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68) If third digit of third lowest number is divided by second digit of second highest, then what will be the resultant

answer?qﬁmmmm%wwaﬁwma@m%wWﬁﬁ“-ﬂﬁlﬁ
foar siran g, ot afvomdt 3= w1 g

a)l

b)4

)2

d)3

e)None of these

69) What will be the resultant of multiplication of last two digits of highest number with last two digits of lowest
number? Ta] T8 TEAT & 3ifdd &l 3Pl B G SIdt F&AT & 3ifdH F 3 A U B Bl
TfOT T g
a) 1536
b) 1436
C) 2436

d) 1546
e) None of these
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70) If one iIs added to all even digits and one is subtracted from all odd
digits within the number, then which of the following number will be the

third lowest number? afe I | 3wl # T ST ST 7 3N J=T & g faun
gﬁﬁwmm%ﬁﬁuﬁﬁaﬁﬁﬁaﬁqﬁmeﬂwmﬁm
a) 427

b) 248

c) 386

d) 148

e) None of these
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Seven persons I, J, K, L, M, N, and O are starting their
work in seven different timings 8 am, 9 am, 10 am, 11 am,
12 pm, 1 pm and 2 pm in the same day

but not necessarily in the same order. O started his work in
the afternoon. Two people were started their work between
O and N. Only one person started his work between | and J
who started his work after O. The sum of starting time of M
and L is four more than that of K’s starting time. M
started his work before L

HIa AR I, J, K, L, M, N, 31R 0 T® g1 e # gag 8 991,
98 9 991, a8 10 991, 11 T, 12 T, GIUGR 1 T 3R
STUER 2 ol ITd 3feRT-3eRT THT H U1 ST IRE B
R IdfeT o= T fe =t wadA gl oA giuge o
YT HTH Y= fHAT1 0 3R N & 1 &1 AT A U1 HTH
3= f5aT1 1 3R ) & S Had TP AT 3 391 $TH
3= fobar o 3= foran

0 % 91¢ IUPT BT | M 3R L P RS THT FTANT K B
aﬁ%ﬂmﬁwmél MH L. | U8 3UT HTH
=
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73) Who started his work just before M? 71) K started his work in which of the following time?

M SlF Ted fraa sire™m | | K A Fafafead 9 5 aua d sSroar o
3= fhar? IR foar

a)K a)9 am

b)J 1

c)L Casel 2))1](? :2

dN ol d)12 am

fth Starting Person 7

e)None of these Time e)None of these
i = 72) How many persons started their work between M and J?
9am N .
S | M 3R ) & A fhaq safeal A ST B
11l am I 5||Q“-|'|a50|?
12 pm 0 a)l
1pm J b)2
2pm L C)3

d)4

e)None of these
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Casel 74) Which of the following is correct with respect to the person

SWO':k . and their working time? HfHd 3R I BT JHY
Tmes | o & ey W Frafafed # & 919 91 w51 82

8 am K a)N -10 am
1 {1 b)J—11 pm
i ! N | 1) 0-2am
10am M - | d)L-2pm
11am | | | | e)None of these
il s .| 75) What is the difference of starting time of O and L?
Ctem | | 0 3R L ¥ Rfle Iuy | fpaar siav 82
spn | : a)2
b)4
C)6
d)8

e)None of these

I
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3ITS ST 8- AL, B1, C1, D2, A2, B2, C3 3fX D4 TH
P SHUR A MU & | TP ST | SeTT-3eRT
%I HTC, Apple, Samsung, Microsoft,
Lenovo, Son ,VivoGﬁTMicromax '
SAIPHHATI
€3 & HU Tl T bl HWAT JHP I aret el
P Y Y TH T ¢ | A4t S At & fid Faa
&l STeRT 3@ Y & | Lenovo ITe] STeRT AT Y €3 & 31
SHUR T 31 12 T@T T 3 | AHET arert Sied
AIdl & STeR] & SR fbdl T W W 3@ AT 3|
I ATe ST e HUT RITT W g1 3@ T
¢ | T & 1Y SR P HUR W 7T I[ B
"WIT Microsoft %W%ﬁ%?@yﬁwvﬁm
& AT 31 D2 3R D4 & T i ST o; AaT D2
AHHT 81 ¢ MR 34 HaIH SHUT VI TR g1 34T
7418 | fS1 D2 $1 D4 & HUR TWT AT & | TTeRT AL
H Apple @ MY 39 B2 & 1o SR IWT AT C1
STeRT § HISHIHTE 8 3R 3 AL 9190 & HUR fobalt
U R R IGTA18 | dial ara Sty prarat
e el a1 Jed U VI W I@T 17 | ST
A2 P! 91qH €3 B SHUR fobdl Teh VI R TET AT 8 |
ST B1 # T Y Ai-Ial § 3R 7 81 AHET |

There are eight boxes namely- Al, B1, C1, D2, A2, B2, C3 and D4
are placed one above another. Each box contains different mobile
phones viz. HTC, Apple, Samsung, Microsoft, Lenovo, Sony, Vivo and

Micromax but not necessarily in same order. The number of boxes
above C3 is one less than the number of boxes below it. There
are only two boxes placed between Lenovo and Sony. The box
with Lenovo is placed either immediately above or
immediately below C3. The box with Samsung is placed at one
of the positions above the box with Lenovo. The box with
Samsung is not placed at the topmost position. Number of
boxes placed above the box with Samsung is as same the
number of boxes placed below the box with Microsoft. There
are three boxes between D2 and D4; the box D2 doesn’t have
Samsung and is not placed at the topmost position. The box
D2 is placed above D4. The box Al contains Apple and is
placed immediately above B2. The C1 box contains Micromax
and is placed at one of the positions above Al box. The box
with Vivo is placed at either lowermost or topmost position.
The box A2 is placed at one of the positions above the box C3.
The box B1 contains neither Lenovo nor Samsung.
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There are eight boxes namely- Al, B1, C1, D2, A2, B2, C3 and D4
are placed one above another. Each box contains different mobile
phones viz. HTC, Apple, Samsung, Microsoft, Lenovo, Sony, Vivo and

Micromax but not necessarily in same order. The number of boxes
above C3 is one less than the number of boxes below it. There
are only two boxes placed between Lenovo and Sony. The box
with Lenovo is placed either immediately above or
immediately below C3. The box with Samsung is placed at one
of the positions above the box with Lenovo. The box with
Samsung is not placed at the topmost position. Number of
boxes placed above the box with Samsung is as same the
number of boxes placed below the box with Microsoft. There
are three boxes between D2 and D4; the box D2 doesn’t have
Samsung and is not placed at the topmost position. The box
D2 is placed above D4. The box Al contains Apple and is
placed immediately above B2. The C1 box contains Micromax
and is placed at one of the positions above Al box. The box
with Vivo is placed at either lowermost or topmost position.
The box A2 is placed at one of the positions above the box C3.
The box B1 contains neither Lenovo nor Samsung.
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48) Which of the following box is placed fourth 46) Which of the following box has Vivo mobiles?
from the bottom? fAaferRaa & & w19 91 f$=ar fufefaa d 3 fog aieg d dial Aaga g2
9 TS I U 3T T 82 a)Box C3

a)Box D2 b)Box B1

b)Box B2 c)Box B2

¢)The box with Apple mobiles d)Box D4

d)The box with Sony mobiles e)Box A2

e)None of these

47) How many boxes are there between the boxes
which has Microsoft and Micromax? S&I & ot §
ﬂ'l%ﬁ‘ﬁ'aw 9
a)One

b)Two

c)Three

d)More than three
e)None
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49) What is the position of the box which has Sony mobiles?
A1 & AT 9Tl 91T BT RITH T 82

a)Second from the bottom

b)Third from the top

c)Fourth from the bottom

d)Third from the bottom

e)Immediate below C3

50) If the Box C1 is related to Lenovo; Box Al is related to
Microsoft in a certain way. Then which of the following mobile
does C3 is related to? Gfe ST C1 A4l A Adfd g; ST
Ul Uh W g 9 APNUE A Idfid g1 o C3
frafafad A 3 g Aasa A Jdla g2

a)Sony
b)HTC
c)Micromax
d)Vivo
e)Microsoft
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